NO.

Rk 244 9 H20H
=R oK PE A

ERUEEKROEENBERE (RRIE)
(FER24% 8 A31HIRH)

I BREHR

1 BRERKR
S ASIHBEOMELEIL, KfgH) HHLEKT23.3F o THYH., 7H31
HEIE & HE210. 7F b UL TV E T,
Fo. KL HbLKIT4A. 6T b T7 HILABMAEL 4. 6T b, BEERAX
K130. 3 F ho 22003 F FoBMmML TV ET,
B, KRGO DB EKD223. 3T h L, 234EFEDOM A A4, 413. 3T
(244 3 A31HEIIE) D5, 1%IZAHYS T A5 & T,

2 mE®HR

(1) S HIIHBEDKRGD DB EAKD 1 EHRIZT4% & 72> TWET,

1 %R (%) QAMEPE  234EPE 224FPE 214EPE 204EPE
BE 8 31 AL 74. 0 69. 6 67.5 68. 4 60.5
R (B4E10H31H) 80. 6 62.0 85. 1 80. 0

X (Q3FEPEDRKIL., 244 3 H31HEIE)

(2) 2ELIFICKRAT SN TR M, BOh (I ALVHEH) |
DAKOER., BRARZICEEZ LD TT,

FEAT B F

Bk (A LHH) 38. 3% (31.9%)
IN=D 0N =] 27. 0% (26. 4%)
R B 13. 3% (18.9%)
FeFERE 12. 0% (14. 4%)

() PII23FPEDFRIY (2348 H31 HEHIIE)

HE S AP R R B AR R EE ) A A PR
Hwah fAF 03(3502)8111  PNHR4TT9
A A 03(6744) 1392
Y JER,



資料No.３


I RE#=

1 BREHR
(1) REHE (BELFR)
F E - —
FrRroasEE | RNEIE | XEIRE | pegoaE | FR224E
B RIHALE RIHALE
(%) (%)
S5 | K Fd 223.3 134.1 94.6 166.5 236.1
x| % | B % - - — - —
5 | &R 0.3 141.6 223.7 0.2 0.1
w | B K FE 4.6 167.8 116.0 2.7 4.0
x| s B - - - - -
&t 228.2 134.6 95.0 169.5 240.3
E:1) SO FOBERCHERNRN—BLEVBENHD.
2)  T0) [FEMICHEEZVWED., [-] FEENETVBDZETRT,
(2) HEiRlEHE (BfL:Fh)
HARI |24 ERR 245
8A31RIR%E | 7A31BRE| (A)—(B)
EE] (A) (B)
5 | K #§ 223.3 125 210.7
x| % | B % - - —
5 | &R 0.3 - 0.3
L | B LK FE 4.6 0.0 4.6
x| s B - - -
it 228.2 125 215.7
F:1) BEHEILREF=DRIATH S,
2) SOUEOERTEEARN—HBLEWVGEENH D,
3)  T0J [FEMICHEELZVWED., -] FEENTVBDZETRT,
(3) KIESDERKDERA I
£ R | BEHE £ % A K O F£ O( % )
£ E (Fr)| 1 = 2 = 3 % | 3B #% 5
223.3 74.0 21.6 3.3 1.1
2% ® B <12.5> <66.0> <27.9> <4.9> A1.2>
166.5 69.6 25.0 45 0.8
2z 5 B (4,413.3) (80.6) (16.4) (1.3) 1.7)
236.1 67.5 28.8 3.1 0.7
2 % E (4,859.6) (62.0) (32.3) (3.1) (2.5)
24 F —23F (R4 ) 4.4 -3.4 -1.2 0.3
24 F —2F (R4 V) 6.5 -7.2 0.2 0.4
X 1) UEEDONROL JE=DRFIE. 2457 ASIHRAEDIECHH.
2) WVBEERVL2EEOLEOH#FIE. RE (8BIIBHERE) DETHD,
) WBFERUVVFEDTE () E0HFIE. BVEFEEFEE S8 AIBRE.

FEFR®E (BFI10ANAERE) OETHD.

4)
5)

IOV EDBRTHERNRN—HLEBEWNEENH D,

M0 IFEALIZHEEGVHD, -] BEENGVIDETT,




2 BHENREHE (XX
(B k)

2} Al #w F KFESIDELRK|KFEEEXRK|BEE A X X |[ERIIBERXK|ERMLE XX

t & & - - - - - -
HILEHE 64 64 - - - -
qF & - - - - - -

5 F - - - - - -

T W - - - - - -

B o= - - - - - -

[1TR 7 - - - - - -

g B 64 64 - - - -
BERERE 103,901 99,728 4158 15 - -
*x B 26,077 25,807 270 - - -

wm K 58 58 - - - -

B OB - - - - - -

B E 840 831 9 - - -

F ¥ 73,292 69,410 3,878 4 - -

" =R - - - - - -

w o= ) - - - - - -
(1T - - - - - -

& % 47 46 1 - - -

g M 3,588 3,576 0 11 - -
LiEEHRE 18,821 18,397 136 289 - -
S 573 493 56 24 - -

B W 955 781 38 136 - -

g 5,739 5,679 42 18 - -

g HF 11,553 11,443 0 110 - -
RERBE 18,313 18,310 3 - - -
kB 2,449 2,449 - - - -
A 2,959 2,958 1 - - -

= = 12,905 12,903 2 - - -
ARRBUS 2,315 2,312 3 - - -
# ' 2,029 2,026 3 - - -

R # 76 76 - - - -

X KR - - - - - -

£ E 80 80 - - - -

= B - - - - - -

M F;oW 131 131 0 - - -

o = U E B BUS 38,164 37,906 234 23 - -
B W 32 32 - - - -

&5 1,833 1,646 174 13 - -

i W 159 159 - - - -

E B 674 663 12 - - -

W A 793 793 - - - -

m B 13,419 13,419 0 - - -

F 680 680 - - - -

Z IE 3,259 3,256 3 - - -

= AN 17,314 17,258 45 11 - -

MW ERF 45,090 45,026 64 - - -
B | 1,219 1,219 - - - -

' =E 2,127 2,127 - - - -

£E B 922 922 - - - _

BE K 4,951 4910 41 - - -

X & 1,018 1,018 0 - - -

= A 23,446 23,445 1 - - -

B R B 11,406 11,385 22 - - -

P i3 1,545 1,537 8 - - -

& H 228,215 223,281 4,606 327 - -

E 1) SO FRDERCHERNRA—BLEVBE N HYET .
2) TOJEBEICHELAENED, T-EBENENEDERLTOET,

-3-




3 FRANREHNE

) KIEIEEHXK (BT %)
231 % o £l = % #& tt B
# F 1 % 2 % 3 % [ a]l 1% | 2% |3 %F [HEHN
&t B & -
#4145 64 48 17 - - 74.2 25.8 - -
T A -
a5 F -
= B -
B H -
(1T -
E B 64 48 17 - - 74.2 25.8 - -
ARENRE 99,728 92,527 6,691 440 70 92.8 6.7 0.4 0.1
*x W 25,807 24,214 1,401 167 25 93.8 5.4 0.6 0.1
m K 58 58 - - -l 1000 - - -
B OE -
w X 831 752 7 6 2 90.4 85 0.8 0.3
F o 69,410 64,249 4,880 239 42 92.6 7.0 0.3 0.1
B =R -
w &= -
(1T -
£ % 46 46 - - - 100.0 - - -
B M| 3,576 3,208 340 28 0 89.7 95 0.8 0.0
LiEERE 18,397 16,184 1,838 217 158 88.0 10.0 1.2 0.9
B 493 389 101 3 - 78.9 20.5 0.6 -
B W 781 747 29 5 - 95.7 3.7 0.6 -
| N 5,679 5,012 659 8 1 88.2 11.6 0.1 0.0
B H 11,443 10,035 1,050 201 157 87.7 9.2 1.8 1.4
WiRElE 18,310 11,314 6,684 253 58 61.8 36.5 1.4 0.3
g B 2,449 2,247 186 8 8 91.7 7.6 0.3 0.3
T A 2,958 2,092 740 92 33 70.7 25.0 3.1 1.1
= =B 12,903 6,975 5,758 152 17 54.1 44.6 1.2 0.1
g3 31245 2,312 1,921 343 42 6 83.1 14.8 18 0.3
% B 2,026 1,790 214 22 - 88.4 10.6 1.1 -
m O 76 68 6 2 - 89.4 7.8 28 -
b N -
E & 80 53 26 - 1 66.4 324 - 1.3
= B -
M # oW 131 10 97 18 5 76 74.4 14.0 4.1
FEMEEE RS 37,906 17,774 17,066 2,494 573 46.9 450 6.6 1.5
B mW 32 3 29 - - 9.5 90.5 - -
B 1R 1,646 1,305 294 45 2 79.3 17.9 2.7 0.1
W 159 115 37 2 5 72.3 23.1 1.2 33
E B 663 477 172 12 2 72.0 26.0 1.7 0.3
T | 793 666 106 7 15 84.0 13.3 0.9 18
" B 13,419 9,583 3,710 111 14 714 27.7 0.8 0.1
F N 680 87 581 11 - 12.8 85.5 1.6 -
B g 3,256 1,693 1,456 71 36 52.0 44.7 22 1.1
= Al 17,258 3,845 10,680 2,235 498 22.3 61.9 13.0 2.9
MM B 45,026 24,679 15,366 3,533 1,449 54.8 34.1 7.8 32
g [ 1,219 500 670 18 31 41.1 55.0 15 2.5
B B 2,127 1,963 51 3 111 92.3 24 0.1 5.2
£ & 922 316 569 35 2 34.2 61.7 38 0.3
[N 4,910 2,048 2,379 326 157 41.7 484 6.6 3.2
X » 1,018 349 590 58 22 34.2 58.0 5.7 2.1
=G 23,445 16,110 5,758 1,111 466 68.7 24.6 47 2.0
BE R B 11,385 3,394 5,349 1,981 660 29.8 47.0 17.4 5.8
] 1,537 744 335 406 52 48.4 21.8 26.4 3.4
& & 223281 165,191 48,340 7,385 2,365 740 21.6 33 1.1

E 1) SOFRDOBERCHENRA—BLEVBENHYET .
2) TOJEBEICEAVNED, [-[EBENEVEDERLTOET,

-4-




2) KIELH

(BAT:b, %)

g g 1% = ] = % A tt =
# 1 % % % 1% | 2% | 3% |#Hes

&t & & -
HILEHE -
R -

5 F -
(=1 -

B H -
(1T -

g B -

BERERE 4,158 3,650 471 31 87.8 11.3 0.7 0.1
*x W 270 216 46 8 80.0 16.9 3.1 -
wm K -

B R -
5 9 9 0 - 97.0 3.0 - -
F o= 3878 3,425 424 23 88.3 10.9 0.6 0.2
® =R -
wWwxE -
1T/ -
£ % 1 0 0 - 50.0 50.0 - -
% M| 0 - 0 - - 100.0 - -

LEEBRE 136 131 5 - 96.5 35 - -
¥ oB 56 56 - - 100.0 - - -
B W 38 34 4 - 88.8 11.2 - -
g 42 41 0 - 99.4 0.6 - -
Bm H 0 - 0 - - 100.0 - -

WRERE 3 - 3 - -| 1000 - -
I B -

Z AN 1 - 1 - - 100.0 - -
= & 2 - - -| 1000 - -

tlig3: 31205 3 1 - 1 38.2 - 235 38.2
%5 3 1 - 0 415 - 17.0 415
" O -

X K -
E E -
= B -
M W 0 - - 0 - - 100.0 -

FEMEZERE 234 7 188 38 3.1 80.1 16.1 0.7

5 W -
E 1R 174 5 143 26 3.0 81.8 15.2 -
@ W -
=" 12 - 10 - - 87.1 - 12.9
W o -
m B 0 - 0 - - 100.0 - -
F -
Z IE 3 - 1 2 - 34.4 65.6 -
= H 45 2 34 9 45 74.4 210 0.1

MW ERF 64 0 40 23 0.7 63.3 35.9 0.1

B M| -

B B -

£ & -

[N 41 0 40 1 0.3 98.5 1.2 -

X # 0 0 - - 100.0 - - -

=g 1 - 1 0 - - 95.2 48

B R B 22 - - 22 0 - - 99.7 0.3
] 8 - - - 8 - - -|  100.0
& F 4,606 3,790 707 93 7 82.3 15.3 20 04

E:1) SO FOBERCHENRLE—BLEVBELHYET .

2) TOJFBAISHEZVHD, T-FERAGVBDERLTVET,

-5-




Q) EUEREXK

(BAT:b, %)

8 a1 1% = # = % ® e ES
2 BRE |l gt | B8F (15[ 2% Z AN EBEL|ESE| 1% 2% |3 % (880
t & & -
#4145 -
' & -
5 F -
T OW -
# A -
(1T -
B B -
AREHE 15 - - 12 3 - - -| 770 230 - -
/S -
i N -
B OB -
#H E -
F oE - - 4 - - - -| 100.0 - - -
B =
woxE -
3 -
E % -
B m 11 - - 8 3 - -| 693 307 - -
LEERE 289 42 229 11 19| 147| 793| 36| 03| 02
¥y oa 24 - 24 - - -| 100.0 - - - -
E W 136 - - 136 - - - - 100.0 - - -
| n 18 - - 14 - - -l 770 230 - -
B H 110 18 79 6 51| 164 717 57| 07| 04
WiRElE -
g B -
2 M -
= = -
ERERE -
W B -
W& -
X K -
E & -
= B -
M F W -
FEMNEERE 23 - 1 12 2 - -| 32| 51.0| 104| 354 -
B W -
E 1R 13 - 1 12 - - - 59| 941 - - -
m W -
L B -
1T | -
m B -
& N -
2 B -
= 11 - - - 2 - - - -| 228| 772 -
B -
E [ -
& =B -
E &5 -
N -
X # -
O -
BE R B -
o+ 8 -
& Bt 327 6 43 253 16 o]l 17] 132| 772| 50[ 28 01
E: 1) S FOBERCHENRA—BRLAENEEABHUET .

2) TOJFEALISHEBVHD., T-JFEREALGVLDERLTVET,

-6 -




4 BWWAREHE

(1) KFE35b% XK
(BHi: b, %)
o o % R ke =
i = % | 3 % |8 % 5
HLHEDOHIEY &
2
N
ZOH P
HhhzE B E
FLTUY = W
HETFLE F N
=L
N E
HEIMY Bm H
LB
N E
HEIPH 2 M
HhE-2FL 'F &
a5 F
= B
# |
W 2
=m B - 100.0 - -
*x W 93.9 5.4 0.7 0.1
m E 91.8 7.3 0.9 -
F E 88.7 10.3 0.8 0.2
woR
E W
g
£ % 100.0 - - -
g B 92.3 7.0 0.4 0.3
# M| 96.7 33 - -
Z A 70.6 22.3 5.2 1.9
= 72.3 25.0 2.4 0.3
# H 88.2 10.4 14 -
E [E - 100.0 - -
= B
&
2 i 70.3 25.1 0.9 3.7
L B 79.6 15.8 46
1T = 100.0 - - -
' 5 50.2 49.8 - -
E N
T B 33.8 61.8 3.7 0.7
= A 10.0 55.0 27.1 7.9
X &
=L 63.8 28.3 7.5 0.4
N E 89.0 95 1.2 0.3
FE635 . H
HEEHL g B
x W
7 N
MR
N E
7EYUk = AN
TEZIX m_ K
MER EE K
MDD B
FABE E B
7XEHY 1




(B b, %)

- % # ke ES
&h & E i #w F = = 3 = (B
HEIF i & & -
HEIFHHS BER B -
HEFSY e K -
N -
N E -
HEFEDOY IT=! -
HEHFA L B -
TR/ [ I -
LE[OB)3 BB -
S -
N E -
] =] [ I -
HIVNE wm K -
i 5 -
(1T -
g B -
# M| -
Z A -
£ 15 -
N E -
¥ i & & -
¥EA BER B -
HPUVH i & & -
HhHDY m B 3 11.4 88.6 - -
RECEDL . H -
19EehY B H 13 - 100.0 - -
= B 21 17.6 70.6 1.8 -
M oW 23 26 68.9 21.3 7.1
m 5 17 7.9 92.1 - -
= AN 64 30.3 36.4 28.9 4.4
E BB 3,118 26.1 54.8 16.2 2.9
N E 3,256 25.7 55.0 16.3 3.0
W& B2 K -
LWDEDE g B -
% M| -
2 A -
N F -
WhToC = F Z
S5 AR = & -
LGCY I+ B 5 -
7R N -
wm E -
B m -
5 R -
LB -
NF -
PHEL=11 X » -
A & -
BEIZLW B W -
fa 5 -
N F -
BTAEFED = -
BIFHrDE i & & -
BFEEH 1 B -
BHoEA E W -
M ARE = B -
# B -
E & -
INE -




(B b, %)

= = 3 '3 8 3 _
g
®
) ~ ¥ 1 &« o i
m._.__—u ™ o -— % ~ 0o
Ad
)
T5) o — ) ~ < o~ ©
o | P QR S ] =2 8 IR =
ﬁ"
N
5 < S ® 1« i~ <
2 8 0 g € © 42 3
| | | | | | | | | H | ” | | | | | m | | % | N N | % | m | | | | | | | | | | | | | | | nA(..u | | |
~ © e
— N
= E%ﬁﬁ%im%#ﬁiﬁﬁimﬂ%WEﬁmm%%m%%ﬁﬁAﬁm_ﬁEmﬂ_ﬁEMWﬁmDﬁ%mmwﬁﬁmﬁﬁ = | =
tm ER Bl ~s
B Eﬁﬁ%@%ﬁﬁﬁﬁﬁ___%ﬁﬁ%%ﬂﬁﬁﬁéﬁzﬁﬁmmi¢_ﬁ___ﬂkﬁhﬂ%%ﬁm&mmﬂkﬁﬁﬁﬂm S| [
) R
ifly =~ ES g INE & )
el o)< | o X |o £ Sls|2
| 7 e § o SI2ERE [ 20
M| SRl g e £ R Y P ) mxiﬁﬁ
KO| - | S| | Hu HO[ 4|4 HufHo[ &£ L 4| |BE[IR




(BBI: b, %)
o o = % #k ke &=

&h & E i w3 = = 3 = (B
FAZEED = B -
ZWLWIIH ZF 5E -
EFDH g & -
ZWEHL LB -
NERES LB -
=5ER = A -
=L -
N & -
ool = B -
aJHRIHY B -
_ZAFEDH = B -

CLLVAE o B 29 86.2 13.8 -

HREA ) 462 78.3 21.0 0.7 -
aseAY 5 F -
= B -
# | -
w2 -
BB -

*x W 1,789 94.4 55 0.2 -

wm K 1 100.0 - -
BB -

m E 92 96.1 39 -

F E 12,612 93.5 6.2 0.2 0.0
mwmE -
woR -
E W -

| 32 68.8 31.2 - -

B 46 78.6 15.7 - 5.7
(1T -
E & -

g B 12 61.9 38.1 - -

# M| 3,442 89.6 9.7 0.7 -

ZF A 1,172 71.2 28,5 0.2 0.1

= & 9,822 48.4 50.6 0.9 0.1

# H 122 745 25.5 - -

WA 63 94.9 1.7 34 -
X B -

E [E 69 748 25.2 - -
= B -

# F oW 78 9.9 69.2 16.8 41

B W 27 39 96.1 - -

5 R 297 46.9 435 9.2 0.4

7 i 17 88.9 6.9 4.1 -

L B 577 72.3 26.6 1.1 -

oo 774 83.7 135 0.9 1.9

m 5 11,713 73.6 25.7 0.7 0.1

F 678 12.8 85.5 1.6 -

T IE 2,873 54.8 431 2.0 0.1

= AN 14,732 175 65.5 13.9 3.0

= M| 213 29.0 69.5 14 0.1

' =B 2,127 92.3 2.4 0.1 5.2

£ B 877 315 64.2 40 0.3

BE XK 3,191 60.2 30.9 6.7 2.2

X # 898 34.7 57.2 5.8 2.4

=g 22,869 69.0 24.6 46 1.9

BERB 8,161 314 438 17.9 6.8

N E 99,377 59.9 33.2 5.2 1.7

E=pll! 2 B 4 44 95.6 - -
JaERh) B E -

-10 -




(BAASL:

b, %)

o " % & x
&h & E i z = R
EDHhHHE % E
EDFIFAH B E
EDHNDY B E
IHULY & =B
I=uhY = G - - 815 18.5
HH=UF & F
= W
M o=
W
BB
7R N
% B
N E
TELFA B E
o E
k =B
N
BonpE W
SHERLVEL &
Shhsy =
SHhDIFA W
Shuny B E
%8203 A
=10 = B
M H
=m B
S
E W
A
B
&
2 [
NF
BEE g B
HEECC # B
A/—IiN\—)L # =
w2
g B
E W
INOE
HEDIZU M=
FRRE ooR
K& Z
K 2 i & &
=hhHDY o H
g2 5
N E
f-=T = B
f-AIZDE B =B
L UMY B 72.4 23 13.4 11.8
FI=X B 5
*x B 58.3 41.7 - -
=
N F 58.3 41.7 - -
SOARBZAT g7 &
AD* wm K
B B
N E
VLRIl B [




(B b, %)

o o = % #k 54 &=
i E R )R W Y1213 8 [5an
AKLBFA E [ -
KIXSD1& T W -
W -
E 5 -
x W -
ooR -
g -
I F -
DOHE = F Z
DARE g & -
20EED = M -
ket ] = B -
W -
B iR 4 100.0 - - -
£ & 38 100.0 - - -
X o 9 18.3 81.7 - -
N 52 85.2 14.8 - -
Thuny X H -
ThZtY) E 1 -
XEDEF = =B -
TAT=HK = 781 95.7 3.7 0.6 -
RKEZLL E B -
HiL1945 2R -
H1t1985 = B -
ENRBED E W -
ks8R = -
EHEEDE m_X -
rrEXD+ woR -
ERDHH W -
b S -
F E -
INE -
EFALEH 1T -
(= 5 F -
! -
INE -
EAEZ woR -
E W -
a -
= & 7 69.6 304 - -
WA -
E E -
L5 =
N E 7 69.6 30.4 - -
EAULDY 52 F -
MBI Ih = F -
g B -
= B -
B -
N E -
RAEHFTFA E E -
7 N -
L B -
[T = -
N E -
BIYpE R -
A ROYAD) K 56 100.0 - - -
HOLEh g 87 94.6 14 40 -




(B b, %)

5 i & 54 =

R
&
B
anh

=
1 % 2 % 3 F | R#H
73

FvEHY 5 22.1 2.3 1.5

o
p e |
—
[=]
~
(o)

HEDIEL

ot & ot
i

BEZEES 55.7 2.2 0.1

Pa:d
*:l:lrﬁlm:
~
(4]

D
E-N
N

I2CFES

£y S
|

B
e E 2% mi =
|

&

st

i 4%

B A

sl TS A D RNE 52

5

=

W wF 58 E B

~
—
-

RIEFYp=E

33 2w W e O E S
|

BM15

H

Ef485

BEEUNY

~—

23.3 76.7 - -

EAYESS)
Tz 8E

o & H M
|

Bz
- 875 125 -

- 87.5 12.5 -

FEDOMEY

INIUE

R (D> I 2 g E SE (N | [

S~
—
-
=11111
|

NE

o
m
|

- 13 -




(BBI: b, %)
o o = % #k ke &=
= & E R )R W Y1213 8 [5an
NFIFEY T I -
a 409 85.9 14.0 - 0.2
= H 11,345 87.8 9.0 1.8 1.3
# = 627 99.3 0.7 - -
k E 9 14.2 85.8 - -
M oW -
B IR 1,341 86.4 12.2 1.3 0.1
m B 871 67.3 29.6 2.6 0.4
N F 14,602 86.9 10.4 1.7 1.1
Ex3Y = B -
W -
E W -
a 6 - 100.0 - -
= H -
[T
N B - 100.0 - -
[FEEOF BER B
(FEDFL TR 2 _
g B =
N E -
Y *x B -
wmE -
# B -
N B -
555 [T =] -
ININUHA B X -
ExY = A 3 - - - 100.0
EAUFHELR m K -
woR -
= 8 -
% E -
WA -
E E -
L 5 -
£ -
7 i -
m B 4 85.8 14.2 - -
E N -
= A 25 39.8 60.2 - -
ABE K 140 10.4 88.7 0.9 -
N 169 16.4 82.9 0.7 -
EhUya = A 52 6.8 72.2 18.8 2.3
VEDHIFN 5 F -
= W -
# | -
[T -
B 5 -
x W 636 93.9 5.7 0.4 -
7 N -
BB -
F E 555 93.7 6.3 0.0 -
R -
E W -
a 11 100.0 - - -
= H# 5 100.0 - - -
w3 -
E % -
s B 65 76.5 235 - -
& M 8 100.0 - - -

- 14 -




(B b, %)

o N = F & Lt E
= & E R )R W Y1213 8 [5an
VEDHIFN (DDE) E Al 39 745 25.5 - -
= & 2 100.0 - - -
# = 121 79.3 20.0 0.7 -
X B -
= B -
B 5 39.3 60.7 - -
7 T -
L B 23 61.7 38.3 - -
W A 7 81.8 18.2 - -
" B 1 100.0 - - -
Z IR -
= A 26 61.3 38.7 - -
= M| -
EE K 5 - 89.7 - 10.3
X & 90 39.7 53.7 6.7 -
T UG 30 50.1 25.4 24.4 -
Ho4E 1,516 480 22.1 26.6 3.3
N 3,143 67.9 17.1 13.4 1.6
E/EHY a -
w3 -
g B -
# M| -
= B -
% E -
WA -
X B -
E E -
= B -
M oW -
E -
& & -
2 Y -
L 5 -
oo -
m 5 -
E N -
T IE -
= AN -
= M -
& =B -
£ & -
B K 3 - 100.0 - -
X & -
ERLG -
BER B
N E - 100.0 - -
EEDPHEED E & -
ALWNT H kB -
29EHY) E W -
g ¥ -
R O# 6 100.0 - - -
£ K 1 - - - 100.0
Z 1B -
= 148 31.2 59.4 9.4 -
N 155 33.6 56.7 9.0 0.7
SH BN B 5 -
AEBLED F ¥ 24,651 94.1 5.6 0.2 0.1
ASxThHh F E 20,883 92.2 7.4 0.3 0.0
ASAoKYAS I & & -

- 15 -




(B b, %)

o o = % #k 54 &=
= & E R )R W Y1213 8 [5an
RoLA LB -
JLfE1935 BE K -
[EL=%5 1 i & -
ELDR & i & & -
ZLES i & & -
[FoMmYA 5 & -
EIFEZH =G -
FXFEDFE A 281 87.8 12.2 - -
FLony B IA -
EJRIOY)) Bm B -
FoLSLD 5 & Z
W= T B -
KUK W E= -
Z A -
WA -
X B -
2 I -
N E -
FHETH = B -
=E238 = & -
HAZDAH = 5 590 71.3 27.1 1.6 0.1
HADRHED = =E -
InfEEE [T -
BB 55 86.5 135 - -
N E 55 86.5 135 - -
SXHRFHS EE XK -
HTIEDIEE woR -
E B -
N E -
HFDOUMY x W -
wm K -
b S -
F E -
woR -
E W -
a -
g B -
g m -
A -
i =B -
E E -
7 N -
Z B -
NI -
N E -
HEYE = B -
B -
N E -
SRTHE g B -
Z A -
%W -
N E -
HialTBh Z AN -
BEOUE Z Al -
HDIZLE gk B -
ZIF455 =G 135 32.1 36.0 26.1 5.8

- 16 -




(BAASL:

b, %)

>H

o i » % x

i % 3 % [H/is5
Y e F
B
M
i
5

15 96.4 - -
/N

x 100.0 - -

= 77.8 - -
b
il
J
FF
(1T
E B
s B

# M| 83.6 - -

2 A 37.3 - -

= B 82.0 - 0.5

# ' - 17.4 -

WA - - -

E E - - -
5
oW

L B 74.1 47 -
W g

m 5 77.9 - -

= A 28.2 21.4 55

g [ 426 - -
B =

BOA 19.9 - -

X » - - -

= 79.4 2.9 0.9

BE R B 10.1 7.3 -

N OE 58.3 55 1.1
ILF—TYotR ) H
= B
i 5

%W - - -

INOE = = -
DDIFEN g &
LNE g &
Y10 E &
HAZVEE . H
BHAHDY "5 F
B W
# |

*x B 100.0 - -
R

N E 100.0 - -
HZDESA BE X
ILI#£1005 T2
PELEHL T =]
PFEDLIK = B
IeAHY = =
N & W

I

w5710V 21




(B b, %)

o o = % #k 54 &=

= & E R )R W Y1213 8 [5an
PhYDE E E -
ESED "2 F -
EDFE B -
REDIEE g & -
PEDHS H i i & -
EUMNY i i/ & -
RELITY = B -

REAFE E ) 3 100.0 - - -
Z—ik 2 M| -
ETRRYETR T -
F % -

= H 18 100.0 - - -
E B -
% B -
L 5 -

N & 18 100.0 - = z
RHEIH B -
HEIES # H -
PHMEZ F ¥ -
2CCH B O -
# | -
w2 -
=m B -

x W 2 100.0 - - -
wm K -
F E -
OB -
E W -
a -

B H 13 80.5 195 - -
E & -
g B -

= B 22 100.0 - - -

% = 14 100.0 - - -
O -
k & -
= AN -

N E 51 95.1 49 - -
BHTPH = 5 -
ZL9Y & =B -
pHLED £ % -

Zo<L 2 950 44.8 53.2 1.6 0.4
2+ E R -
ZNE # B -
T E -
E R -
i W -
L B -
2 [ -
B K -
) -
N & -
ZlIs BER B -
dAEAHY X & -
HUVI-H %*% -
B -
N E -
PHUYH 1 & & -

-18 -




(B b, %)

Z 7 E R )R W Y1213 8 [5an
wHEDY B E -
A -
I F -
pHHDIIF Z=El| 4926 88.8 11.1 0.2 -
EHHLN B -
pHTLIT U = B -
LA = M| -
&t = -
£ & -
BE R B -
N E -
L—465 B3 B 10 13.0 87.0 - -
HhbA E X 13 46.1 53.9 - -
heELFEA R -
BE O & # ¥ W &t 222,408 74.0 21.7 3.3 1.0
fa % & # = 223,281 74.0 21.6 3.3 1.1

FEoD SOUFORMBRTHENRLV—HBLEWVEELAH S,
2) 10 FEMICHEEGZVWED, -] FERSAGVEDETRY,
3) MBREHEICEIEMBERMLUNOBELEETN S -OEMRERMETE—BLEL,

-19 -




(2) KFEILLRK

(A, %)

o - % & te &=
w0 B E o R I RELL
Hmib & & -
| s _
# | -
m B -
(1T -
LG -
AN E —
FRIEF g & -
HALEDD B B -
RlfE245 A 42 99.4 0.6 -
ARAEF E W -
HINETF = F _
hIS5EF E W -
a -
2 ¥ -
INEE -
BDFLH5 it & & -
E5R N -
DL LEE it & & -
=-pELE it & & -
=R M H -
EhiHYEE g B -
IJLFA1EF F -
2 B -
INE -
HERSE B -
“hhib 5 F -
# | -
W -
= 5
x W - 100.0 -
ooR
E W -
[T -
N g 3 - 100.0 -
Ja/IEF g B -
Z A -
5 & -
@ W -
L B -
AN E —
—wELL T -
HAIAEF = A0 -
AT E T -
SDFEF/RED BER B —
SDFELL BER B -
=DFHLD BER B -
=DFEELD BER B -
HBEF_ERE # B -
i g & -
+H®E A -
LA<ELD i & & -
=ITEZS a -
BKIERE E W -
a -
= H* -
INF -




(A, %)

i " E R | & W w17 =13 2 maa
FH_ERE m# -
il 5 —
T5HhE5 i m —
= FEEL gz B -
=2Z%b | -
1T -
N E —
=F0HE5 = A0 -
BOFIADEF B H -
YEXIEF T = -
ThDdb W f -

EHBEMD E W 34 100.0 - - -
F<b£5BH i & & -
ININETF E W -
EYESXS E E -

ETFa3EF =S 20 10.0 68.4 21.7 -
k=B -

INF 20 10.0 68.4 21.7 -
VHEHD & M -
EX/EF "5 F -
= W -
w2 -
B2 5 -

*x W 263 80.5 16.3 3.2 -
wm K -

F % 3,774 88.6 10.7 0.6 0.2
E B -

OB 0 - - 100.0 -
& -

5 R 174 3.0 81.8 15.2 -
@ W -

L B 12 - 87.1 - 12.9

INEF 4224 84.3 14.2 1.4 0.2
E3VEF [T =] -
= M| -
&t = -
£ & -
EE K -
N -
N Et -

SEDEH F E 52 60.9 38.8 0.2 -
RUTIEF *x W -
F E -
% ' -
kE E -
WA -
INOEE -
FASKED B -
IOhEF 5 & -
QL HIE A -
EDELL m X -

&% M| 0 - 100.0 - -

B K 41 0.3 985 1.2 -

e R B 22 — - 100.0 -

g 63 0.2 64.3 35.5 -
HOHREE R -
SVYATETF [T -

-21 -




(A, %)

a - % & ke &=
o E % = % % B
%L 5 F -
2 5 —
B
B g H - 100.0 - -
3150MY E B
XA " F -
EF3/Y m K -
g B -
m 5 -
IR -
INF -
35T H EHR -
EJVEVETF & % -
YoREF 5 -
i _
N -
YIJTUEF = -
Al £ ) b=} -
N -
1= -
I -
PR SE ) = -
Hi=1F5L 5 56 100.0 - - -
E O & B O W 4,493 82.9 15.1 19 0.2
% 3= = 4 4,606 82.3 15.3 2.0 0.4

E: 1) SUUROEBRTHERRN—BLEWNEEAH D,
2) TOJIFEMLISHEBELED, - I[FERNGNEDETT,
3 MBREHEICHEDRERMUNDOBELSTNS-OEMRIBHRRFTE—ELEL,

-22_




(3) EEERARXK

(Bfi:b, %)

o “ & & jug =
" & R EIRE]1 5253 % [BEA
21l E E -
MEECED ¥ H -
MDFE . H -
=M =l - 100.0 - - -
REAER = & -
el B -
WZLZDE T E -
n ) -
P E T —
HBLAFFEN B H# -
T BT ¥ B -
X & -
@ W -
L B -
& N -
E [E -
INE -
RANIEL ] = W -
o B it AT E R -
HRIEXR M H -
(1T 7 -
OB -
N F -
HE/\ R E R -
AEF B 11 - - 22.8 77.2 -
#MDiE = & -
HOE 5 1R 2 -l 100.0 - - -
K 8 -
S TR =
RDE T -
TABLD PR Z
BEAMN = F -
XY= = [ -
BE A -
INCE -
D ¥E W H -
BnE = -
15 &l it & & -
KBRE % B -
S8R £ % -
BODE =l -
—WBFEb L B -
EEw E W -
X BE B -
HBOFE B H -
Rt g & -

-23-




(Bfi:br, %)

n = & & e =

" & EH  BH mrTgps[1% 2% 3% [BEN
EN=pp ) w2 -
E B -
*x W -
7R N -
BB -

F OE 1 - - 100.0 - - -

S 24 - 100.0 - - - -

E W 136 - - 100.0 - - -

n 17 - - 75.3 247 - -

B H 110 5.1 16.4 71.7 5.7 0.7 0.4
I B -

&% M 11 - - 69.3 30.7 - -
= B -
R &R -
X & -
E E -
M oW -
5 -

5 11 - 6.9 93.1 - - -
WO -
B @ -
X 7 -

N F 311 1.8 13.9 79.4 45 0.2 0.1
B 1345 % M -
B =B -
I F -
FEEDE IT=! -
EER E R -
SHDE 5 = -
SEERE T2 -
SITEE % E _
HEEMmRES % B -
L9 <E R -
SRE = [ -
LohFER £ % -
EE] E & -
HLAE1IS E E -
#Ah E H -
E E -
BEE K -
INCF -
i B & -
TR L B -
f=-h1a8 ;B -
E % -
E E -
INF -
BEEHD E E -
BENEELF W -
Ex LN -
[T -
i OB -
M oW -
g -
INF -
72 22 JE = B -
HPE < W -
HPDE W -
HEDE E E -




(Bfi:br, %)

=] A % %& J:[: $
w & R EIBRE][1 22 %[5 E [REA
EHEH14 K -
ENE = W -
25 W -
BES E & ~
B#esR E & -
W o -
I F -
IS t & & -
J\R L B -
INRER1E L 5 -
I\RiR25 8 -
#EA() 5 & -
TS = -
EWE 5 & -
¥ | -
B B -
INEE -
(03 =2=% 5 x W -
UEIFEEA gz B -
VWeESTTH m K -
w3 -
£E % -
N E -
EEER Tk E -
EEXR E & -
EER 'k E -
EEZR E & -
U&Y B W -
29/1\F E & -
BNE F £ 3 100.0 - -
EES i & -
tE125 ;oR -
a -
N F -
EbhY T =
2= % [ -
=R B -
e M H -
£ 11457 = O -
#MoH -
W -
2 B -
* W -
A N -
E W -
E.5B -
I F -
UiE4 5 W -

- 25~




(Bfi:br, %)

= ® T =
i EX® |\ R g Tge[158 223 % [0EH
LA T O -
¥ -
e _
o8 -
T 0 _
a i -
E H -
o -
% _

H -
53

Dﬂ}>|-§:’r"$‘kimﬁﬁﬁ?ﬂﬂ}ﬁfﬂmﬁﬁEﬂEmmﬂ};H%M%%ﬂP
Do E R sd o KRS 2
|

—
|

e -

g3l -

|E] —

’E —

Ulﬁ —

PN -

§j\ —

Ulﬁ —

N F -

(LAfE E E -

Eha = 8 -

Z5E A -

2K (TR -

Al -

N -

ZNE g B -

=K x W -

7R N -

i 5 -

W E -

g% M -

E S| -

N -

I E -

i x B -

EMm2s T E -
E O & #E ¥ W &t 327 1.7 13.2 712 5 2.8 0.1
#a ® & EJ1 = 327 1.7 13.2 712 5 2.8 0.1

F:1D) SOUFOBBRTHENRD—HLAEWNEELH D,
2)  T0) FEMEISHEZEVWHD, -] FEENTVLDETT,
3) MEREHEICEIEMRERMUNOBEL S TN D -OEMGRBERMETE—BLEL,

- 26 -






